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Prompt

Part A

A pair of fraction models is given.

Which explanation is a correct reasoning for the sum of the shaded parts?

26

A. Each model shows g shaded, so the sum is 5

B. Each model shows g shaded, so the sum is 2%.

C. Each model is divided into 8 parts. There are 12 total parts shaded, so the sum is %.

D. Each model is divided into 8 parts. There are 12 total parts shaded, so the sumis 1 %.

Part B

Each shape is equal in size and is divided into 5 equal parts.

pavRvivAvLy

* Explain one possible way to shade the three shapes to represent a total of % In your explanation, at
least one part of each shape must be shaded. Explain why your shading is correct.

¢ One shape is removed. Explain how to decompose —571 into the sum of two fractions. Give an example
in the form of % +% = %, and explain how the two remaining shapes would be shaded.

Enter your explanations in the space provided.

Sie 8

¥ Math symbols
+ = || %X || %
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M400293 Rubric Part A (Machine Scored)

Score | Description
This part of the item is machine scored.

¢ Reasoning component = 1 point
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o Student correctly selects option C.

0 Student response is incorrect or irrelevant.

M400293 Rubric Part B

Score | Description
Student response includes each of the following 2 elements.

e Reasoning components = 2 points

o Valid explanation of how to use the three shapes to represent

7 with valid reason of why the explanation is correct

5

o Valid explanation with example of how to decompose 7 into

5
the sum of two fractions and how the shapes would be shaded

Sample Student Response:

Shade all of the first shape because there are 5 parts, 1 part of
the second shape, and 1 part of the third shape. This is correct
because all the shapes are divided into 5 parts and the number of
7

shaded parts is 7, which equals z

7

5
; 7 i e 2 5 _ 7
2 fractions that equals 3 will work. An example is tte =5

In this case, one shape would have 2 parts shaded and the other
shape would have all 5 parts shaded.

To decompose into the sum of 2 fractions, any combination of

Or other valid response.

=

Student response includes 1 of the 2 elements.
o The response is incorrect or irrelevant.
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Score Point 2

PartA GOO®O
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Annotation

Anchor Paper 1
Part B: Score Point 2

This response receives full credit. It includes each of the two required
elements.

e A valid explanation of how to use the three shapes to represent é (in

the form of 3 hand-drawn and shaded pentagons to represent g) with

a valid reason of why the explanation is correct (My shadis correct
because % + é + % = g) is provided.

e A valid explanation with an example of how to decompose g into the

sum of two fractions (Z + % = %) and how the shapes would be shaded
(in the form of 2 hand-drawn and shaded pentagons) is provided.
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A2

Score Point 2

Part A

A pair of fraction mode s ig ghven.

‘Which explanation Is a comect reasoning for the sum of the shaded pans?

[ i
A Each modal :5I1;JH\-S?) shaded, 5o the sum is T' .

[ a 6
Each moda| shows 3 shaded, so the sum is 2 £ .

® €. Each medel is divided into 8 parts. There are 12 total parts shaded, so the sum s
2
i

0. Each model is divided into 8 parts. Thare are 12 total parts shaded. so the sum s

F]
lg,

Part B

Each shape is equal in size and is drided into 5 equal parts

(VANSRVAN

"
= Explain one pessible way to shade the three shapes W represent a wtal of I? « I your

explanation, at least one part of 2ach shape must be shaded. Explain why your shading is

comect.
& One shape |s removed. Explain how 10 decomposs %' nto the sum of two fractions. Ghwe an
[u] N T
example in the form of 0 -I-ﬁ = 5, andexplain how the teo remaining shapes

would be shaded.

Enter your explanations in the space provided

One possible way to shade the three shapes to
make a total of % is if one of the shapes had three

parts shaded in to make % . Another shape would
have to have % shaded in. The last shape would

have to have % shaded in too.
3 2 2y _ 7
(E 5 5) =35-
To decompose % into 2 fractions, and one of the
shapes is taken away, you would have to do a
4

number model. One shape is going to have =

shaded in. The other is going to have % shaded in.
4 3\ _ 7
(3 +E) =5
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Annotation
P —

Anchor Paper 2
Part B: Score Point 2

This response receives full credit. It includes each of the two required
elements.

e A valid explanation of how to use the three shapes to represent é
(One possible way to shade the three shapes to make a total ofé is if
one of the shapes had three parts shaded in to make % . Another
shape would have to have é shaded in. The last shape would have to
have é shaded in too) with a valid reason of why the explanation is
correct [( % + % + E) = é] is provided.

e A valid explanation with an example of how to decompose g into the
sum of two fractions [To decompose é into 2 fractions, and one of the
shapes is taken away . .. (Z + g) = g] and how the shapes would be
shaded (One shape is going to have % shaded in. The other is going to
have % shaded in) is provided.

Note: The order of the shaded figures or description of the shading and
the fractions that support the shading do not have to be in the same
order. They simply must match.

Note: Using a combination of the number of parts (that is, whole numbers)
and the fractional amounts to shade is a valid strategy.
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A3

Score Point 1

Part A

A pair of fraction models is given.

(2
R4

Which explanation is a corect reasoning for the sum of the shaded pans?

~
YA Each model shows % shaded, so the sum s % .

4 [
Each model shows T shaded, so the sum is 2 N

® ¢, Each model is divided into B parts. There are 12 total parts shaded, so the sum s
12
KR

0 D. Each model is divided into B8 parts. There are 12 total parts shaded, so the sum is
2
12.

Part B

Each shape Is equal in size and Is divided Into 5 equal pars.

AVavhvay

= Explain one pussible way to shade the three shapes to represent a total of '? « Inyour

explanation, at least cne part of each shape must be shaded. Explain why your shading is
comazct.

s
» One shape is removed. Explain how io decompose 'E into the sum of two fractions. Give an
] u| 7 .
example in the form of Inl +ﬁ =% and explain how the two remaining shapes
would be shaded.

Enter your explanations in the space provided

| would shade a whole shape, % of another shape,

and % of another shape. This is correct because 3

5
11 _ 1
T5T5 =3
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Annotation

Anchor Paper 3
Part B: Score Point 1

This response receives partial credit. It includes one of the two required
elements.

e A valid explanation of how to use the three shapes to represent é (I

would shade a whole shape, % of another shape, and § of another

shape) with a valid reason of why the explanation is correct (This is
correct because g + % + % = g) is provided.

Note: Using fractions to explain how to shade each shape is a valid
strategy.

No valid explanation with an example of how to decompose % into the sum of
two fractions and how the shapes would be shaded is provided.
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Score Point 1

PartA OE®E

Part B
L I
, 31 M .
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Annotation
P —

Anchor Paper 4
Part B: Score Point 1

This response receives partial credit. It includes one of the two required
elements.

e A valid explanation with an example of how to decompose % into the

sum of two fractions (g + % = g) and how the shapes would be shaded

(You can shade in one whole and then two more from the other
shape) is provided.

No valid explanation of how to use the three shapes to represent g with a
valid reason of why the explanation is correct is provided.
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Score Point 0

PartA GA&O®

PartB

el i would shake 77
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| shaiel 0f1f,
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Annotation
P —

Anchor Paper 5
Part B: Score Point O

This response receives no credit. It includes neither of the two required
elements.

While the valid explanation of how to use the three shapes to represent % is

provided (well i would shade 3 on 2 and shade 1 on the 37 one), no valid
reason of why the explanation is correct is provided.

Note: Both components of the element must be correctly addressed in order
to receive credit.

No valid explanation with an example of how to decompose % into the sum of
two fractions and how the shapes would be shaded is provided.
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Score Point 0

Wy
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Annotation

S ——
Anchor Paper 6

Part B: Score Point O

This response receives no credit. It includes neither of the two required
elements.

No valid explanation of how to use the three shapes to represent % with a
valid reason of why the explanation is correct is provided.

While the explanation with example of how to decompose é into the sum of
two fractions is provided (I chose % and % because 4 + 3 = 7 and if you put

the 7 over a 5 it equals %), no explanation how the shapes would be shaded is

provided. Simply providing the addition of the fractions or the parts in the
supporting work is not sufficient to address the shading component of this
element.

Note: Both components of the element must be correctly addressed in order
to receive credit.
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Practice Set
P1-P5

No Annotations Included
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P1

Part A

A pair of fraction models is Even.,

Which explanation is a correct reasoning for the sum of the shaded parts?

I G 206
“oA Each model shows g’ shaded, so the sumis TJ .
B Each model shows g— shaded, so the sum is 2 % .
@® . Each modelis dvided into B pars. There are 12 total parts shaded, so the sum is
12
5 "
' D. Each model is divided into & pans. There are 12 wisl pens shaded, se the sum is
2
12,
FPart B

Each shape is equalin size and is divided inte 5 equal parts.

i
Explain one possitle way to shade the three shapes to represent a total of 5 Ir yaur

explanation, at least one part of each shape must be shaded. Explain why your shading is

comect.
T
= [ne shape is removed. Explain how to decompose T into the sum of two fractions. Give an
h
Ll u] T ) .
examale in the form of o +_E| = 3 and explain how the two remaining shapes

would be shaded.,

Enter your explanations in tha space provided.

One way to use all three shapes are shading one
shape with 3 another with 3 and the last one 1. My

shading is correct becuse if you add % and % it will
equal to 5i

If one shape is gone | would decompose % with the
2 shapes. The 2 shapes left should be shaded like
one shape is shaded % and the other should be

shaded % .

o

+

=

I
5

© 2019 CCSSO, LLC



P2

PartA GEE

Part B

Thefe a3 shapes di\)r'O‘ed L
;a((ﬂ )12 wayl{-opﬂ/]ake —%’ 1S 6W£’

et 5h0~pe /'5" . C'/’C %—.
%’*% +}6—": %’ Or (/g-:j’
’if” V;“ “_hawe OV\(Y 2 ‘)Lupe"sm

Yo ke 7 \
“hape - artd a,/;%))e(fdzlé/ dfg/fﬁf,jg,
e
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Part A

A pair of fraction models is given,

A2 A
Y Y

Which explanation is a conmect reasening for the sum of the shaded pans?

-] 2
YA Each r"odnlﬁhc'-’.sg shaded, 50 the sum is T.B .

& o 6
Each model shows = shaded, so the sumls 2 T

. Each model Is divided into & parts. There are 12 total parts shaded, so the sum s
12
E

) D, Each model ls dvided Into & parts, There are 12 total pans shaded, so the sum s

2
12,

Part B

Each shape is equal in size and is divided into 5 egual parts.

=
. T
= Explain one possible way o shade the three shapes to represent a total of T Iri your

explanation, at lzast one part of each shape must be shaded. Explain why your shading is

comect.
. 7 .
= One shape is removed. Explain how to decompese — into the sum of two fractions. Give an
5
. u] [m] T
example in the form of U + E = g ,  and explain how the two remaining shapes

would be shaded.

Enter yaur explanations in the space provided.

One possible way to shade all three shapes to

represent or equal % is , that you could shade in Z

5
of the first shape.% of the second shape.And on the
last shape shade in % like you did on the first
shape. My shading is correct because

24342 _ 1

5 + 5 + 5 5

How to decomose % into the sum of two fractions:
3 44 _ 7

55 =3

The two remaining shapes would be shaded like so:
The first shape would be shaded entirely and the

second shape would be shaded in % of the way.
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Part A

A pair of fraction models is given.

AN AYaNA
Y DY

Which explanation is a corect reasoning for the sum of the shaded pans?

A Each model shows % shaded, so the sum is % .
») [ [i}
-~ B Each modal shows ﬁl shaded, o the sum 52 ?' .
® . Each model is divided into 8 parts. There are 12 total parts shaded, so the sum is
1%
? .
©  D. Each model is divided into 8 parts. There are 12 total parts shaded, so the sum s
12
g
Part B

Each shape is egual in size and is divided inte 5 equal parts.
@ 4
N\ /

Explain one possiole way to shade the three shapes o represent a wial of

-
emf=1

. Inyour
axplanation, st least one pant of each shape must be shaded. Explain why your shading is
cormect.

One shape is remaoved. Explain how o decompose ? into the sum of two fractions. Give an

axample in the form of % +% = é , and explain how the two remaining shapas
would be shaded.

Enter your explanations in the space provided.

You would have to 2 in on the first one & 2 in on the
second one & 3 in on the third one . Why my shading
is correct because | just add some of them together
and | split some of them apart like 24+ 2 +3 =17
thats how | got my answer.

3 44 _ 1

¥ F=F you just had to take out one of the

shapes and then | just add 3 + 4 = 7 then | just
put on the five as denomanators.
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Part A

A pair of fraction models is given.

A2
R4

Which explanation is & comect reasoning for the sum of the shaded pans?

. L5} M
< A Each model shows 3' shaded, 50 the sum is % .

i 5 6
Each model shows = shaded, so the sum s 2 T

0
o

Each model s divided Into & pars. There are 12 total parts shaded, so the sum is
12
s

\ 0. Each madel is divided into 8 parts. There are 12 total parts shaded, 5o the sum is

12,

Part B

Each shape is equal in size and is divided inte 5 egual pars.

\\/}

+ Explain one possible way to shade the three shapes o represent & total of ;‘1, + Inyour

explanation, at least ane part of each shape must be shaded. Explain why your shading is

comect.

One shape is removed. Explain how to decomposa 5 into the sum of wo fractions. Give an

\ ] ] i ) L
example in the form of Il +W = T and explain how the two remaining shapes
would be shaded.

Enter your explanations in the space provided.

After solving | learned that one possible way to
represent 7 over 5 on three shapes is by putting %
in the first shape, % in the second shape, and % in

the |last shape. This is correct because | know that
3 plus 3 plus 1 equals 7 so the shapes are going to
equal 7 over 5. You can decompose 7 over 5 into
shapes by shading 4 in the first shape and 3 in the
second shape. | know that 4 plus 3 equals 7, so if

you put those two shapes together you will get % .
R
5 5 7 b
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Practice Set

Paper Score

P1 1
P2 2
P3 1
P4 0

P5 2




